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RODA SPA

: Output Electric
ﬁi’(‘;;f' Heating AT=50K Immersion RRP (inT;:%
listed in black G Raling L VAT)

All outputs certified to EN 442 Watts

0 Zehnder Roda Spa
RO-060-100 667 1000 white 656/2238 400 14.6 £436 £523.20
RO-070-050 741 500 white 377/1286 200 8.2 £316 £379.20
RO-100-050 1037 500 white 504/1720 300 12.2 £375 £450.00
RO-120-050 1259 500 white 583/1989 400 14.0 £415 £498.00
RO-150-050 1481 500 white 691/2358 500 16.5 £500 £600.00
RO-180-050 1851 500 white 817/2788 500 21.5 £608 £729.60
RO-180-060 1851 600 white 980/3344 600 23.5 £633 £759.60
RO-180-080 1851 800 white 1307/4460 900 Bilf5 £774 £928.80
RO-070-050-0346 M 500 anthracite 377/1286 200 8.2 £395 £474.00
RO-120-050-0346 1259 500 anthracite 583/1989 400 14.0 £519 £622.80
RO-150-050-0346 1481 500 anthracite 691/2358 500 16.5 £625 £750.00

@ Dual Energy: Self Fit - Additional cost to Central Heating model prices see page 136 for details

Electric Heating
Model

0 Zehnder Roda Spa Electric

Watts

Radio frequency remote programmer IPX4
Zone 1 Bath, Zone 2 Shower, Class Il

RRP
(inc 20%
VAT)

ROE-090-050/GF 835 500 white 500 15.1 £534 £640.80
ROE-150-050/GF 1353 500 white 750 22.3 £658 £789.60
ROE-180-050/GF 1649 500 white 1000 27.5 £720 £864.00
ROE-200-060/GF 1871 600 white 1250 34.7 £788 £945.60
ROE-200-080/GF 1871 800 white 1500 44.7 £878 £1,053.60

e Colour finish: Standard colours from the Zehnder colour chart including matt white finish: white RAL 9016 + 25%. Colour finish and non-stock products delivery: 17 working days.

*1/8” air vent

Width excludes air vent

F = flow

R = return
H = height
W = width

Tube: Dimesions: 70mm x 11mm
Tube: Vertical & 38mm
All dimensions in mm
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For full C E compliant technical specifications, refer to page 140
To make an approximate conversion from T=50K to T=60K multiply outputs by 1.2




